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Chapter: Measurement 

 

Solution of Revision sheet-2 

                    Answer: 1 

                     Distance from Dhaka to Rajshahi --- kilometre. 

                     Length of an exercise book ----- centimetre 

                     Weight of a bag of salt ---- kilogram 

                     Length of a door ----- metre 

                    The weight of a book ----- gram 

                    Answer:2 

  Ans 1: 

1 kg = 1000 g 

 Therefore, 4 kg = 4 x 1000 = 4000 g 

Ans 2: 

1 kg = 1000 g 

 Therefore, 6 kg = 6 x 1000 = 6000 g 

                     Ans 3: 

1 kg = 1000 g 

 Therefore, 7 kg = 7 x 1000 = 7000 g 

 

7 killogram 300 gram =7000 g + 300 g 

                                    = 7300 g 

                    Ans 4: 

1 kg = 1000 g 

Therefore, 8 kg = 8 x 1000 = 8000 g 

                     8 killogram 850 gram=8000 g + 850 g   = 8850g   

  


